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1. BASE

2. EMITTER
3. COLLECTOR

EMAXIMUM RATINGS &= F8<E il

Characteristic Symbol Rating Unit
= Nk L ile:
;"%‘;g%; ltage Veso 20 Vde
S%o%% %}{%%%Conﬁnuous e 100 mAde

ETHERMAL CHARACTERISTICS Z 1%

,Ch,iéic\teflsm Symbf)l Mj)f Unit 11
I ik B

Total Device Dissipation g §r=

FR-5 Board(1) > 225 mW
TA=25CRUFIEE 15 25°C P 13 mW/C
Derate above25C iy 25°C Y&V .

Total Device Dissipation sEF =)=k 300 mW
Alumina Substrate & {~ &%, (2)Tp=25C Py

Derate above25C i 25°C Y& 2.4 mW/C
glﬂerl:mal Resistance Junction to Ambient Rous 417 CIW
Junction and Storage Temperature o
PR Ty, T, -55to+150
AR b T
EDEVICE MARKING #7 /&

GM4901(2SC4901)=YK-
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BMELECTRICAL CHARACTERISTICS # {+

(TA=25C unless otherwise noted J[/== i VRS » 1% £% 257C)

Characteristic Symbol Min Typ Max Unit
EillEs" " 7 I =2 U4 1T = /R B - 14
Emitter Cutoff Current I o o 10 A
L 0 1B (V=1 V., 1c=0) EBo | 5
Collector Cutoff Current
& Ty R (V ep=10V,I5=0) Ico — — 1.0 1A
Collector-Base Breakdown Voltage v 20 o o v
£ B HL R FEEN(1=10uA) (BRCEO
Collector-Emitter Breakdown Voltage v 9 o o v
2 AL P = TmA) o
Emitter-Base Breakdown Voltage v 3 o o v
TP SRR FN1=10uA) o
DC Current Gain [P iR IE s
— 2
(Vep=3V,Ic=10mA) Hre 82 70
Gain Bandwidth Product
S A (VCE=3V I =TmA) fr e e s
Gain Bandwidth Product
TR A (Vep=3V,[c=20mA) fr o 7000 o MHz
Noise Figure [ (7257
— 1.1 —
(V cg=3V,Ic=10mA,f=1.0GHz) NE dB
- i S0
Feed-Back Capacitance ~ [ 554 C. o 0.75 o PF

(VCB=3V,IE=0,f=1 OMHZ)

1. FR-5=1.0%0.75x%0.062in.

2. Alumina=0.4%x0.3x0.024in.99.5%alumina.
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.90+0.10

.30%0.10

.00+0.10

.40+0.10

.40+0. 20

.90%0.10

.95+0.05
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.13+0.05
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